
SAP ABAP table V_EHAUADR {Generated Table for View}

V_EHAUADR

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

HAUS [CHAR (30)]

CITY_CODE [CHAR (12)]

TITLE [CHAR (4)]

MLANG [LANG (1)]

TPLKZ [CHAR (5)]

FLTYP [CHAR (1)]

TPLMA [CHAR (30)]

SWERK [CHAR (4)]

STORT [CHAR (10)]

BEBER [CHAR (3)]

GSBER [CHAR (4)]

TRANSPZONE [CHAR (10)]

STREETCODE [CHAR (12)]

STREETABBR [CHAR (2)]

COUNTRY [CHAR (3)]

REGION [CHAR (3)]

ADRCITY

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

CITY_CODE [CHAR (12)]

 V_EHAUADR-CITY_CODE = ADRCITY-CITY_CODE 

0..N

{0,1}

ADRSTREET

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

STRT_CODE [CHAR (12)]

 V_EHAUADR-STREETCODE = ADRSTREET-STRT_CODE 

0..N

{0,1}

ADRSTRTYPE

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

STRTYPEAB [CHAR (2)]

 V_EHAUADR-STREETABBR = ADRSTRTYPE-STRTYPEAB 

0..N

{0,1}

IFLOT

MANDT [CLNT (3)]

TPLNR [CHAR (30)]

 V_EHAUADR-HAUS = IFLOT-TPLNR 

{0,1}

1

 V_EHAUADR-TPLMA = IFLOT-TPLNR 0..N

{0,1}

T000

MANDT [CLNT (3)]
 V_EHAUADR-CLIENT = T000-MANDT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 V_EHAUADR-SWERK = T001W-WERKS 
0..N

1

T002

SPRAS [LANG (1)]
 V_EHAUADR-MLANG = T002-SPRAS 

0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 V_EHAUADR-COUNTRY = T005-LAND1 
0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 V_EHAUADR-REGION = T005S-BLAND 

0..N

{0,1}

T357

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BEBER [CHAR (3)]

 V_EHAUADR-BEBER = T357-BEBER 

0..N

{0,1}

T370F

MANDT [CLNT (3)]

FLTYP [CHAR (1)]

 V_EHAUADR-FLTYP = T370F-FLTYP 

0..N

1

T370S

MANDT [CLNT (3)]

TPLKZ [CHAR (5)]

 V_EHAUADR-TPLKZ = T370S-TPLKZ 

0..N

1

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 V_EHAUADR-STORT = T499S-STAND 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 V_EHAUADR-GSBER = TGSB-GSBER 

0..N

{0,1}

TSAD3

CLIENT [CLNT (3)]

TITLE [CHAR (4)]

 V_EHAUADR-TITLE = TSAD3-TITLE 

0..N

{0,1}

TSADV

NATION [CHAR (1)]

 V_EHAUADR-NATION = TSADV-NATION 

0..N

1

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 V_EHAUADR-TRANSPZONE = TZONE-ZONE1 

0..N

{0,1}


